How can we measure the amount of water vapor in the air (humidity)?
Air can only hold a certain amount of water.

Just like ice tea can only hold a certain amount of sugar.  If you add too much sugar, the sugar piles up at the bottom of the glass.

Once the air is holding all the water vapor it can hold, evaporation can not occur.  

Without evaporation, the temperature of a wet thermometer would not decrease—the temperature would stay the same as a room temperature thermometer.

With no evaporation:

· the temperature on a wet thermometer would not change

· the air is saturated (100% full) of water vapor

Oppositely, in dry air with very little water vapor, evaporation will happen faster because there is more space for the water molecules in the air.

When evaporation happens faster, heat moves away from the thermometer faster, and the temperature on a thermometer decreases. 

The faster the evaporation:

· the lower the temperature on a wet thermometer
· the less water vapor in the air

Conclusion:
Comparing the temperature of a wet thermometer with the temperature from a dry thermometer can allow us to determine how much water vapor is in the air (humidity).  The greater the temperature difference, the less water vapor there is in the air.
